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Answers and commentaries 
 

 
 
Question 1 
With reference to these sources and your understanding of the historical context, assess the 
value of these three sources to an historian studying education in Fascist Italy in the 1930s. 

[30 marks] 
 
Mark scheme  
L5: Shows a very good understanding of all three sources in relation to both content and  

provenance and combines this with a strong awareness of the historical context to 
present a balanced argument on their value for the particular purpose given in the 
question. The answer will convey a substantiated judgement. The response 
demonstrates a very good understanding of context.           25–30  

 
L4: Shows a good understanding of all three sources in relation to both content and  

provenance and combines this with an awareness of the historical context to provide a 
balanced argument on their value for the particular purpose given in the question. 
Judgements may, however, be partial or limited in substantiation. The response 
demonstrates a good understanding of context.            19–24  

 
L3: Shows some understanding of all three sources in relation to both content and  

provenance together with some awareness of the historical context. There may, 
however, be some imbalance in the degree of breadth and depth of comment offered 
on all three sources and the analysis may not be fully convincing. The answer will make 
some attempt to consider the value of the sources for the particular purpose given in 
the question. The response demonstrates an understanding of context.                 13–18  

 
L2: The answer will be partial. It may, for example, provide some comment on the value of  

the sources for the particular purpose given in the question but only address one or 
two of the sources, or focus exclusively on content (or provenance), or it may consider 
all three sources but fail to address the value of the sources for the particular purpose 
given in the question. The response demonstrates some understanding of context. 

7–12  
 
  

Please note that these responses have been reproduced exactly as they were written by 
the student. 
 
This resource is to be used alongside the A-level History Component 2L Italy and Fascism, 
c1900–1945 June 2022 Question paper and inserts.   
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L1: The answer will offer some comment on the value of at least one source in relation to  
the purpose given in the question but the response will be limited and may be partially 
inaccurate. Comments are likely to be unsupported, vague or generalist. The response 
demonstrates limited understanding of context.                 1–6  
 
Nothing worthy of credit.            0 
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Student responses 
 
Response A 
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This is a Level 5 response 

This script demonstrates a very good understanding of all three sources. It maintains its 
focus on the issue of ‘education in Fascist Italy’ and reaches a judgement on each source. 
There are developed comments on the provenance, which are pertinent and show 
understanding of context. This shows an awareness of the purpose. For example, Source C 
is understood to be a statement of Fascist aims and is linked to the ‘Battle for Births’. 
Source A is recognised as being within a pattern of Fascist educational practice. In this case 
the context of 1922 is also used skilfully to demonstrate the nature of the propaganda. 
Awareness of purpose leads on to successful evaluation because it highlights the 
limitations of the sources, which are considered for all three sources. Possible limitations 
are illustrated with reference to the text. For example, Source B’s provenance suggests it 
might be critical, which is explicitly linked to the tone and language used.  
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Response B 
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This is a Level 3 response 

The script shows some understanding of the content of all of the sources and is aware that 
they are sources and so makes some attempt to comment on the provenance. The grasp 
of historical context is not always secure, and it is not consistently applied to the focus of 
the question. The answer is over-reliant on repeating the content of the sources, and 
conveys the view that if some content can be proved to be ‘wrong’ then it is ‘less valuable’. 
The comments on ‘tactical fascism’ and ‘surface level conformity’ show some insight in 
reference to B and C but the overall judgement on Source C confuses goals and events and 
is not convincing. The comments on Source A are heavily dependent on the source text, 
with only a little relevant context. The commentary on A loses focus on the issue of 
education. 
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Question 4 
To what extent was the fall in support for Mussolini in the years 1940 to 1943 solely due to the 
failure of Italy’s military campaigns? 

[25 marks] 
 

Mark scheme  
L5: Answers will display a very good understanding of the full demands of the question.  

They will be well-organised and effectively delivered. The supporting information will 
be well-selected, specific and precise. It will show a very good understanding of key 
features, issues and concepts. The answer will be fully analytical with a balanced 
argument and well-substantiated judgement.                        21–25  

 
L4: Answers will display a good understanding of the demands of the question. It will be  

well-organised and effectively communicated. There will be a range of clear and 
specific supporting information showing a good understanding of key features and 
issues, together with some conceptual awareness. The answer will be analytical in style 
with a range of direct comment relating to the question. The answer will be well-
balanced with some judgement, which may, however, be only partially substantiated.  

16–20  
 
L3: Answers will show an understanding of the question and will supply a range of largely  

accurate information, which will show an awareness of some of the key issues and 
features, but may, however, be unspecific or lack precision of detail. The answer will be 
effectively organised and show adequate communication skills. There will be a good 
deal of comment in relation to the question and the answer will display some balance, 
but a number of statements may be inadequately supported and generalist.         11–15  

 
L2: The answer is descriptive or partial, showing some awareness of the question but a  

failure to grasp its full demands. There will be some attempt to convey material in an 
organised way, although communication skills may be limited. There will be some 
appropriate information showing understanding of some key features and/or issues, 
but the answer may be very limited in scope and/or contain inaccuracy and irrelevance. 
There will be some, but limited, comment in relation to the question and statements 
will, for the most part, be unsupported and generalist.            6–10  

 
L1: The question has not been properly understood and the response shows limited  

organisational and communication skills. The information conveyed is irrelevant or 
extremely limited. There may be some unsupported, vague or generalist comment. 1–5  
 
Nothing worthy of credit.           0 
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Student responses 
 
Response A 
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This is a Level 5 response 

This script shows understanding of the full demands of the question. The argument is 
sustained throughout, with an analytical approach, and the supported knowledge is 
specific and precise. The treatment of the failures of Italy’s military campaigns 1940-1943 is 
very good. It makes reference to specific campaigns in Abyssinia, Russia and Greece, and 
further comments on the impact of these failures on ‘support for Mussolini’, which shows 
good understanding of the key issue. The opening paragraph proposes a balanced 
argument and this promise is fulfilled. There is appropriate and specific reference to 
economic problems and declining living standards. The overall judgement is substantiated 
by an exploration of the links between the factors, which leads to a convincing conclusion. 
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Question 3 
‘Mussolini’s successful consolidation of power, in the years 1922 to 1926, was due to the 
compromises he made to secure the support of the Italian elites.’ 

[25 marks] 
 

Mark scheme  
L5: Answers will display a very good understanding of the full demands of the question.  

They will be well-organised and effectively delivered. The supporting information will 
be well-selected, specific and precise. It will show a very good understanding of key 
features, issues and concepts. The answer will be fully analytical with a balanced 
argument and well-substantiated judgement.            21–25  

 
L4: Answers will display a good understanding of the demands of the question. It will be  

well-organised and effectively communicated. There will be a range of clear and 
specific supporting information showing a good understanding of key features and 
issues, together with some conceptual awareness. The answer will be analytical in style 
with a range of direct comment relating to the question. The answer will be well-
balanced with some judgement, which may, however, be only partially substantiated.  

16–20  
 
L3: Answers will show an understanding of the question and will supply a range of largely  

accurate information, which will show an awareness of some of the key issues and 
features, but may, however, be unspecific or lack precision of detail. The answer will be 
effectively organised and show adequate communication skills. There will be a good 
deal of comment in relation to the question and the answer will display some balance, 
but a number of statements may be inadequately supported and generalist.         11–15  

 
L2: The answer is descriptive or partial, showing some awareness of the question but a  

failure to grasp its full demands. There will be some attempt to convey material in an 
organised way, although communication skills may be limited. There will be some 
appropriate information showing understanding of some key features and/or issues, 
but the answer may be very limited in scope and/or contain inaccuracy and irrelevance. 
There will be some, but limited, comment in relation to the question and statements 
will, for the most part, be unsupported and generalist.            6–10  

 
L1: The question has not been properly understood and the response shows limited  

organisational and communication skills. The information conveyed is irrelevant or 
extremely limited. There may be some unsupported, vague or generalist comment. 1–5  
 
Nothing worthy of credit.           0 
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Student responses 
 
Response A 
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This is a Level 3 response 

This script shows an understanding of the question. The question has been addressed and 
there is an awareness of key issues around the consolidation of power by Mussolini. 
However, there is a lack of precision in the argument, especially about the given factor of 
‘compromises made by Mussolini’. This has been interpreted in the more general sense of 
‘political skills’. There are relevant references to the issue, for example Mussolini’s 
willingness to ‘work within the confines of a liberal system’, and his ‘good relationship with 
the king’. The statements about how this made for a successful consolidation of power are 
inadequately supported. As a result, although balancing factors are commented on and 
supported, the overall judgement is unconvincing. 
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